Executive Summary 

Many companies are searching for growth and even for most mature business growth is hard to achieve from within. The best approach for faster growth and improved profitability is through the customer’s eyes and how your products and services meet their needs. Many companies turn to mergers and acquisitions (M&A) or geographic expansions to achieve growth but more companies lead to high failure than success, because executives are yet to figure out the philosophies, structure and the planning process that goes into the final stages of closing a deal.  But firstly most company’s start by improving their revenue performance as well attaining high market share, not only for them to sustain their growth in sales but to also improve and grow overtime. Communication with employees, customers, clients, and vendors is always important in a business as it helps companies grow and bridge managerial and cultural gaps. A company that everyone can learn from is General Electric, one of the largest companies in the world. GE has acquired over 100 companies, has its own leadership development programs that deals with rigorous business strategies and management communication skills.  These programs are attended by other companies to learn and grow leaders such as those that are from GE. They might not be No.1 in the stock market, but they are No.1 in growth, leadership, structure and management.  Moreover, there are in ‘position to grow organically two or three times the world Global Domestic Product (GDP) in the next few years. GE’s revenue growth for the fourth quarter has resulted just above Wall Street expectations by rising 11% which is a result to their fast growing businesses such as energy, oil and gas equipments. High growth companies like GE use the strategic logic of high growth, which is identifying the value of customers as well as sustaining the growth in sales. Companies such as GE achieve their greatest competitive advantage because they do not have rivals as benchmarks. Strategies of growth is more than a management strategy, it is a technique surrounding the people, the culture, the measurement and the process; Leading companies such as GE become successful because their theories about strategy shows consistent results.
Introduction 

Inside every successful business, lies an excellent business strategy. Every Business has its own target goals and objectives to obtain in order to achieve consistent growth. Business strategy is what determines the company’s level of success versus the competition.

These strategies include the following: 

· Strengthening the company’s competitive position. 

· Carrying out external and internal audits 

· Knowing your environment 

· Knowing your core competencies and competitive environment 

· Knowing your internal and external resources

 Other strategies include, growth strategy, which is another way a company can: 

· Achieve profit 

· Obtain market leadership 

· Spread risks 

· Remain competitive 

And especially for large companies they can gain: 

· Larger profits 

· High sales revenue /market share 

· Company stability and greater ease with which to cope with economic problems. 

Growth represents strength and high profitability in a business and it is created through economic value, increasing product sales and industry averages. Types of growth strategies include; mergers & acquisition, joint ventures, diversification, organic growth, and revenue/market share. The advantages of these strategies are high company market share, which provides economies of scale and lead to increases in profits. By offering a greater value to customers and lowering the cost of sales.

Michael Porter is one of the most prominent contributors in the field of strategic management theory. His main models and strategies help management to achieve the following:  

· Shape a company’s strategic environment 

· Help a company to obtain a sustainable competitive advantage 

· Sustained organizational and industry structure 

· To see the value of their customers, management and industry operation 

A strategic plan is a recipe to success in every business, how it is used in an organization is the company’s strategy within their business environment.
General Electric 

The general electric company is one of the world’s largest companies and one of the most diversified industrial companies in the world.  Also, they are the most admired company in the world and rank number one within their industry. This company is not one of the most profitable or one of the fastest growing companies, but is admired by thousands of people. Why is this case?  

General Electric was formed in 1892 with a merger of Edison General Electric and Thomson –Houston Electric.  They began making appliances such as toasters, light bulbs, elevators, computers and many different appliances. GE started acquiring other companies as early as 1900. By 1980 the company continued to expand through acquisitions and joint ventures and their range of products also began to expand. 

While every organization is different and faces different challenges, most companies view mergers and acquisitions as resulting in a ‘loss jobs and diminished power’. Research indicates that 70% of alliances either fail or achieve only its initial goal and 55% of alliances dissolve within three years. Companies like GE have resulted in a ‘30% rise in its workforce, a rapid globalization of its business, and a doubling of its net income’, 

GE capital services has made over a hundred acquisitions in recent years, and recently entered a joint venture with Microsoft forming the MSNBC cable channel in 1997.  In 2005 GE restructured its organizations into six different businesses, each one focused on the broad markets served by the company. Those six different businesses were: consumer finance, commercial finance, healthcare, infrastructure, and NBC universal and industrial. This choice of restructuring was done due to their long-term goal of achieving more than 10% annual earnings growth and at least 20% return on total capital. Their elevated performance in revenue it’s simply because of their successful sales in products and services include their rail engines, healthcare technology, finance and water processing technologies, which is also the fastest growing business.

Each day, more than ‘300,000 people’ are working to achieve that goal of long term growth in order to ensure the long term viability of the organization. Growth is constantly pursued within GE and company leaders that are working to ensure the creativity of the firm is sustained. Performance in innovation, globalization and growth has always been GE’s common initiative for the past one hundred years. Its goal is to maintain its success by focusing on key components of their strategy which include operations, logistics, and the value chain. Globally GE is achieving significant growth, with an increase of 16% of revenue; whilst GE industrial is showing poor performance in revenue regarding the plastic business. The plastic business includes products such as light bulbs and appliances which keep on declining due to downfall in sales.

Globalization is one of the key strengths in this company. They are building relationships and creating leadership roles in places like the Middle East, as well as meeting customer needs in various markets.  After each acquisition, communication within GE plays a key role. GE conducts a session called the hundred day plan. This session welcomes new senior managers and provides them a chance to socialize and exchange information about their future plans for the newly acquired company. Building a communication plan breaks down cultural differences and also develops growth within the organization, this is the approach GE uses to sustain their growth as well as gain market share.
GE’s managerial talent and ideas are always outstanding and they are always one step ahead of other companies. The following are GE’s Principles for the past 100 years. 

	1900s
	The company started their first corporate R&D lab.

	1930s
	They focused on Cooperative Labor Relations, by adopting pension plans and profit-based bonuses to keep employees away from unions. 

	1950s
	They produced the famous ‘blue books’, which contained detailed guidance that shaped GE managers everywhere.

	1960s
	GE led the move to strategic planning.

	1980s/1990s
	It took concepts like the Leadership Development, the Work out and Six Sigma and made them the stuff of the global management culture.


This Information was sourced from Fortune Magazine. 

These strategies used by GE have made them a leader in their industry, and helped GE to achieve consistent results for the past one hundred years. Ever since Jeff Immelt took over the lead role in 2001, his goal was to make GE ‘reemphasis on its scientific research labs’, by respecting the history of GE and ‘creating a long undeveloped marketing function’. These continued changes of GE, helped to make the company stronger each year, because of their aim for high-performance throughout the organization. 
Types of Growth 
Growth is a type of strategy that can deliver security and stability, and it is measured in many ways such as assets, market share, sales revenue and profits. Companies use growth as part of their strategy because it increases profit, achieves market leadership and it reduces the risks of takeover. Many companies are searching for growth, but what are the different growths strategies that will help them grow faster?  

 Mergers & Acquisitions.

The two paths of growth that are usually taken is mergers and acquisitions or organic growth, both strategies of growth have opportunities and risks but often leads to changing things and creating new businesses. It is not all acquisitions and mergers that lead to profitable growth, it is researched that 50% of all acquisitions and mergers fail due to lack of communication and loss of key personnel but on the other hand if it’s kept small and simple it can be very profitable. Sunglass Hut, which was founded by Sanford Ziff, is one of the world biggest non-prescription glasses, and they own over 1000 stores all over the world and operating over 300 stores that sell watches under the name ‘watch station’. When Desai capital acquired sunglass hut they concentrated on growing their operational performance to attain high sales in revenue. After this acquisition the company opened more stores around the world and gained ‘37% in annual returns’, they continued to expand when they upgraded their existing units and added new products to their line. Sunglass hut acquired more companies and entered a joint venture with the largest sunglasses retailer in Australia.  They also changed their employees that knew less about sunglasses and replaced them with trained specialist that could handle customer service; this move was made to progress customer service. All these changes gave Sunglass Hut International a strong portfolio and a stable foundation for the future. Mergers and acquisition only works if the following is paid attention to:  

· Acquires need to ensure that they have the right managers within the organization. 

· Motivation within the management team is advisable; companies such as GE and Thermo Electron make their managers wealthy if the company achieves outstanding returns. 

· When the acquisition is complete, managers are required to create value and enable change within the organization. 

· The most important key is to interact with the team and maintain a structure as like GE who has acquired over 100 companies and is well known for their successful management strategies. 

· Finding the right company to acquire, because acquisition is not easy. 

Successful acquires didn’t stick to their core competence, they grew within its field of knowledge, such as tried different approaches from competitors which made them become successful acquirers.   

Joint Ventures 

This is when ‘two or more parties agree to undertake economic activity together’. Consider this example. In 2001 Sony and Ericsson formed a joint venture to create mobile phones together, the reason for their merger was Sony is the best at consumer’s electronics and Ericsson is best at technological leadership. Together both companies achieve great success in producing mobile phones and other hands free products, because they both had what the other didn’t have.

Organic Growth   

Organic growth is an expansion from within the company, which usually leads to profitable growth. Successful firms such as Tesco, IBM and Microsoft have achieved organic growth by increasing product range, gaining market share and building new capacity. Other companies favor organic growth because is less risks taken and management and organizational culture is maintained, but disadvantages could include a slow growth in the market. Tiffany &Co was founded by Charles L. Tiffany in 1837; the reason for Tiffany’s success is its leadership, respect for employees and staying true to their customers. Tiffany’s history in creating fine products made with diamond, silver, gold and platinum packaged in an elegant blue box has always been a success. Today they have more than 155 stores allover the world and in the last 20 years Tiffany’s value has grown from $135million to $4.4 billion. The company’s organic growth strategy was simply producing new products, enhancing their value chain and expanding their products to other countries. They also sold their goods through Internet and have made to small acquisitions in Canada and Switzerland. Tiffany has made sure that their products are of quality and uniqueness, and the relationship between leaders and employees are strong and focused.

 
Looking at this company their strategy of organic growth was simple; they stuck to their core competence and focused more on growing their internal system. Meaning giving their employees the power to meet all customer needs, having the company interact with their employees and management to obtaining leadership, and lastly fairness and respect within their environment.  

Diversification  
One of the most difficult decisions a company can face is whether to diversify or not. Diversification is a type of growth strategy, and it is obtained through greater sales from producing new products and new markets. The rewards and risks can be unexpected, so before making a decision the first step is to find out your strategic assets; by identifying your customers, product and core competence of your business. Consider the case of Disney, the biggest tourist attractions in the globe today. When Walt Disney company choose to diversify, they didn’t have all the required strategic assets, but they obtained it along the way by building working relationships with companies which helped them expand its core animation business to consumer products, theme parks/resorts, TV broadcasting & radio and more. There are also companies who fail to diversify; for example, Quaker Oats tried to enter the fruit juice business with Snapple but it didn’t work because they didn’t have the knowledge and strength to make quality juice.   

Revenue/Market share   

Revenue growth is mostly affected by sales of products and services to customers and it sometimes can be unpredictable. The ‘tope line’ and ‘bottom line’ are looked very closely when reviewing financial statements, but most companies aim to improve the bottom line which simply means’ the company net earnings at the bottom of the page’. The way it could be improved is to simple improve the bottom line through generating the top line growth and cutting costs. Fast growing companies such as Starbucks normally grow fast in revenue which also reduces their profitability due to cash required for growth. Leading global companies sustain their growth in revenue by averaging selling prices and using customer retention. In a competitive market you need to have structure and successful managerial capabilities, such as GE who has grown to its industry’s leading position. 

Coca- Cola and PepsiCo are the world’s leading producers of soft drinks. As well as being no.1 of the leading producer of soft drinks, Coca- Cola owns four out of five of the world’s soft drink brand. Marketing their products is Coca Cola’s strongest area and their high market share has given them price advantages and cost economies due to high volume purchasing and high manufacturing experience. Though success has not been easy, Coca – Cola has got loyal customers all over the world, which is an added bonus for them. Their attempt to launch new flavors has not all been profitable but they’ve never declined but they have all maintained high level of loyalty from customer and has also increased growth through revenue sales, market share as well as profit.
How fast companies grow? 

High growth companies usually have advantages over their lower growth counterparts such as unique products, globally diversified, more innovative, better leadership, lower labor costs and being most efficient. When looking at high growth companies such as Chrysler Corporation, Southwest Airlines, Wal-mart and Dell the first thing you are likely to realize is they have sustainable competitive advantage, they have unique products, as well as expand their ideas when it comes to customers, Innovation and market share.


Southwest airline (SWA) is a domestic U.S airline that provides low fare to their customers; they have maintained their position as a low cost leader for the past 34 years The Company’s operation performance and structure has made them grow seven times faster than the industry average.  Financially SWA has been profitable for 33yaers, showing in 2004 their annual reports show that their operations revenue grew by 16.1%and their net profit had an increase of 75.1%. How do they do it? SWA didn’t only focus on their product innovation, but they found other ways to serve their customers and capture their value, they not only produced a new way of growth they created growth built on hidden assets such as relationships and market position, they strengthen their organizational structure including employees and has achieved a strategic goal of profitable top line revenue.

 Growth through Innovation 
Successful Innovation simply adds value to companies such as growth in productivity, competitive position and market share, but there are also risks of failure when dealing with Innovation, which can affect the company’s economic growth. Economic growth is driven by innovation and can increase the ‘input of labour and capital growth’, which can also come from the increase of productivity.  

Companies like Whirlpool was always competing with other companies on cost, when they realized they needed to dig deeper and find out what they can do to build their brand strategy as well as build a new and more profitable strategy. They researched within their company and found out that their consumers were not delighted doing regular chores at home such as laundry, cooking and washing up dishes. Their objective was to take care of all them, by producing and changing their products to fit each consumers needs when it came to household chores. Whirlpool used the same products but changed different tools, to make it easier to clean, less time consuming and less hassle. The question that should be asked in every company is why customers behave the way they do when trying different products? All high growth companies put this question into consideration when bringing out a product. When the changes were done there is an increase in revenue and decrease in operating expenses.  Contadina is another company that used innovation to create high growth in their business. Contadina’s fresh refrigerated pastas and sauces were favored by customers, but then that wasn’t enough. The company wanted to create a product for customers that would be quick, easy to prepare and inexpensive, so they introduced a fresh pasta product that came in many varieties such as ravioli and tortellini. Even though this pasta was in a smaller package, and was more expensive than the usual dry pasta, consumers took a big interest. Plus Contadina grew at ‘high double-digit rates and later became the leader of fresh pasta. How did they do it? Consumers got the same freshness and taste that they could find at restaurants.


Innovation is seen as ‘the introduction of something new’, and also bringing a new product to the market, which many leading companies use as a strategic logic for high growth, growing revenue as well as increase in profit.

Factors Limiting Other Companies from Achieving High Growth.


Why are some companies able to achieve growth and some are not? To answer this question we researched countries all over the world to find out their different growth strategies and strategic focus they attain within their company. Paying close attention to each company you could see that the high growth companies had their own approached growth strategy, which worked well for them. According to the authors of ‘Strategies for Growth’, there are two kinds of strategic logic when dealing with high/low growth companies, which are the conventional strategic logic and the logic of value innovation. Conventional strategic logic is when companies focus too much on their competitors and the differences among customers. But value innovators don’t use rivals as benchmarks, but they simply focus on customer value and deliver new sources of value at a lower costs. The theory of value Innovation explains why so many high growth companies are successful, such as Wal-mart, Sony and Starbucks these companies identified their approached strategy, made competition irrelevant and created a new demand for their company. These companies also have high market share due to their sales product sales and online sales.    

The factors companies are lacking to sustain high growth includes concentrating more on your competitors strengths and weakness rather than your own, not focusing on the key commonalities in what you customer’s value such as products and pricing and lastly not providing benefits to your customers through your services. Not having a great relationship with your employees can bring your growth in sales to a halt, as well as not taking control of your organizational leadership meaning your environment. Decrease in revenue performance can sometimes falter profits and also reflect the profitability associated with market share, this can include the changes that will be made in your marketing mix as well as the introduction stage to your products. The World Biggest Companies 

These are the list of the world’s largest companies by market capitalization, which is ‘a measure of a company’s total value. Each company’s turnover represents the ‘amount of business a company does in a period of time’. Turnovers are frequently compared to other companies in its industry to show how well it’s doing.  

Turnover ($m) (2005-2006)
Exxon Mobile 358,955.00
General Electric   148,019.00 

Gazprom   35,485.70
Total SA   32,655.00

Microsoft 39,788.00 

In the late 1960s in Belgian, Movie Theatre was not very popular and forced many cinemas to shut down. Bert Claeys was in a position of declination, as like other movie theatres, and instead of improving their performance within their business such as better services and marketing skills. Bert Claeys took another approach and created the world's first megaplex with 25 screens and 7,600 seats and called it Kinepolis. For customers this creation gave them better screens, sounds and seats and for the company it gave them better overall margin and lower land costs because of their cheaper location, which also gave customers free and easy parking; the company's creation also gave them low cost position which gave then a competitive price. This formation gave the company high growth in profits and revenue as well as introducing new customers to the market. In 1997 the Bert group and the Claeys merged into one company and became Kinepolis group, in 1998 Kinepolis was known as the market leader and the leading player in the European market currently owning 22 cinema complexes in Belgium, France, Switzerland, Poland and Spain. This company ignored the long-term decline and focused on something new and they were not worried about the risks that were involved. The five dimensions of strategy is used by Managers to improve and sustain high growth, this includes:
Creating a new value curve is another way of high growth; value curve is “a graphic depiction of a company’s relative performance across its industry’s key success factors”. Instead of just improving the value, companies like Kinepolis achieved their success by eliminating features and creating features, which made them different from their competitors. The three platforms can also be a contribution to high growth: product, service and delivery. Most value innovators concentrate on products, because customers and technologies change overtime. High growth can be achieved by anyone small or large company, it is how managers understand their strategic moves and analysis. 


Another way of growth is the concept of ‘Fair process’ is when company use fairness when making decisions. BA has been in this situation before with their employees, when they dishonored fair process and employees lost respect for the company. The company declared a cost cutting program whilst their profits were high and their planes were full. With the use of fair process a company decisions/plans can come to nothing if their employees do not support it. 

Conclusion  
 Growth has become the new strategic method for all companies, to produce profits, increase shareholder value as well as acquire high growth. Business competes in two world’s the physical world and the virtual world. How to create value for both areas is to analyze the value chain for both the marketplace and the marketspace. A value chain is a strategic plan used by managers to maximize value chain whilst minimizing costs, it also describes value-adding activities such as inbound and outbound logistics, operations, marketing and sales, and this is associated with a company’s supply and demand side. Managers need to understand both the physical and the virtual world, so that they would know the strategic issues facing their companies. The winning key to success is satisfying the needs of customers whilst maintaining low cost and prices within your firm as well as sustaining revenue growth; this is executed by one of the leading companies GE. General Electric is not the fastest growing or the most valuable, but it is admired but most companies because of its management skills and ideas. In the past years till today GE has given set management rules for companies to follow and they’ve all been a success, its guidance and leadership skills development has established consistent growth, unique achievement and successful results. GE is one of the highest growth companies and they used resources such as Innovation, organic growth, mergers and acquisitions, value innovation, diversification, market share/revenue and strategic methods to sustain their high growth, but mainly used mergers and acquisitions to achieve high growth. There are several types of growth companies that have a tendency in using, mergers & acquisitions, organic growth, Sale sin revenue which are all effective but, has major risks. Mergers and Acquisition doesn’t rarely lead to profitable growth, because external growth is difficult to achieve as well as company’s lack of communication and cultural indifferences. Organic growth on the other hand is a long-term strategy for any company and it ‘represents the underlying strength and vitality of the core businesses. This is a successful path but most companies fear that this path forward could limit existing skills, limit growth within the market and could be too slow for the dynamics of their market. And lastly Revenue sales are unpredictable and can sometimes place pressure on to companies Innovation is a life of a company; it adds growth to a company and sustains its market position. Companies tend to take this route because it’s an increase in value and companies like Kinepolis and Contadina whose strategic focus on customer value, products and services offerings and assets and capabilities lead them to achieve the greatest competitive advantage. Diversification can make you or break you, it is one of the most challenging decision a company can face, so it is important for a company to find its strategic assets before succeeding in a new market. Companies such as Disney not only has theme parks all over the world they expanded their animation to TV broadcasting, live entertainment as well as retail stores. Different companies get growth through different strategies, but why do they all do it? Because they want to increase market share, assets, sales revenue and enjoy grater stability that comes with economic problems. Many companies die young because they focus too much on policies and producing goods and services, rather than concentrating on their organization, their management, developing people within their community as well as creating opportunities for their employees, such as GE. General Electric has maintained its leadership for more than 100 years because their recipe of success is the ability to learn, adapt and evolve within their industry.

